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SDRAM (D) CAM (Content Addressable Memory)
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P BEMA S RG> R BT R
4 i 743 ? (A) Router (B) Bridge (C) Switch (D) Gateway
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15. 100BaseT 7 “BASE” %7 (A) %> ¢ (B) A4 W (C) %4 B (D) i+ B

16. p =0 & 4_3@ /ﬁr«g 23 },@?f £802.11G & R F
(C)45MHz/ > g2

B
1 (D) 45 Mbps/ 2 g2

e R > HATE L (A)45MHz/ 2

1 (B)45Mbps/ L a1

2-1




A

J

Bzt 42 FERMILFAL L THFFH
FAPEE L B E B
Fraghuticyg %27 %27

17. a+b/(c-d)*e = postfix &5 ;% 5= (A) ab+cd-/e* (B) abcd-/e*+ (C) abcd-/e+* (D) abcd/-e*

18. vi— R AT 0 kgZifie (Recursive) A23% ewd v {eif v ? (A) Stack (B) Queue (C) Tree (D) Hash

19. T s |wRfE B 2 E4% * Divide and Conquer 13 v% ? (A) Bubble Sort (B) Merge Sort (C) Heap Sort (D) Radix Sort

20. T 511\:}«7@_;3' 2 Z 3 * Greedy shie: (4 ﬁ} L H_hm B % IRIEPL 0 B 7 1 eiE #) 7 (A) Binary Search j# & ;2
(B) Depth First Search ;& & ;2 (C) Prim 7 Minimum Spanning Tree ;% & ;2 (D) All Pairs Shortest Paths ;% & ;2
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1 3% CC++, fJava 335 B- 425 (FEH - » RipP i G * anf3 ) s 2 F 4 /4% (inputtxt) 3§ » iz
FAEE S (F BEF NN RA) 2 BT FERE R A 80digits ARt EE B R ¢ 7 digitt?” o
#p > T8~ ¥ - outputtxt (20%) -

Gl mput.txt 2> output.txt
12345678 1
764743
9825363 0

2. (a) H#.A multi-programming £ multi-threading % £ (5%) -

(b) 3 #%#% dynamic link library (DLL) ~ ¥ 4eie & % ~ 1 2 v X PR L& * R F] (5%) °

3. BRFFHES 3 27L& (table) FHs w5 (1) &4 A&+ 7K © (Student_ID, Name, Department) ~ (2) § 2 %
7oL - (Student_ID, Registered_Courses) -

(A) 78 hATH 4 - L9 SQL 3E72 ¢ ('S96720001°, ‘2 -} 7, “F E & 7) (B5%)
(B) 4r% & F % &g 3 -] P iE 7 vRit k (Registered_Courses) » 2 SQL &2 5 7 (5%)
4. (A) mHERP XML &2 HTML e & £ 8 (5%) -
(B) ## M XML = 5 p s Fa g & 2 F 80k ¥ (5%) °
5. 44T C #2545 (Bl a) Bk i for-loop $4 {7 = i=0 i&— B iteration {2 » & ¥ie {4 (main memory) fe ¥
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7risesRMpe BRI GL & i3k malloc & 5% return = - .7 & NODE = | shisfg 3 ) - (10%)
" def struct rod Address
ikt et nods { Occupied i
it data; o
1000 1016 ad
struct node  *next, } HODE, 1004 1016 ¢ head
1003
1012
" e . 1006 |
HODE * curt, * head, 007 hG
S 1024 | | ]
mt 1,
head=HULL; Occupied
for (1=0;12=11++) { 2000
. 2004
outt = (MODE *malloc]sizeoff HODED; 2008
. 2012
curt->data = 1 2016
curt-=hnext = head, a0
head = curr, |} (B—/MEE 1byte)
®1(a) ®1(b)
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